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B 420 (TR A |[AEIFD 3p 3p 4p 3p Mz 13p 156
EHREE 3p 3p 3p 4p Mz 13p 223
260 40p | T biR—Jb xXZ |[BREA 4p 4p 3p 1p 1060 12p 146
ARASESR 4p 2p 4p 4p 260 14p 303
3L 38p |WILINF BN |REERE 4p 3p 3p 3p Mz 13p 490
RAEF 2p 4p 3p 3p | 10 12p 35
Az 37 |TVES BN |EEETF 2p 3p 4p 2p 1862 11p 260
SR 4p 3p 3p 4p 260 14p 387
541 3p |[F—LEH BY |SHTET 3p 4p 4p 4p Kiva 15p 879
SHBPH 1p 4p 2p o | 3562  8p -194
61iL 31p |TEAM WATANABE BE |[BIHE 4p Tp Tp 4p 2241 10p 150
pESUES 4p 3p 4p 2p Mz 13p 390
M 30p VAR RE | KEEA  FH 1p 3p 4p 4p | 106 12p 456
REXHT Tt 1p 3p 1p dp | 256 9p 296
81iL 0p |TUSHEDE RN |BBAET 3p 3p 4p 2p 1062 12p 205
A=t 2p 2p 3p 3p | 2262 10p -3

931 30p |HA< AL RILR—F kAN |EFE Ft 2p 4p 2p 4p 106z 12p 141
REHER  FH 20 4p 1p 2p 2541 9 -269

1060 26p |P—FEVR7A BN |WUTEEH 1p 4p 3p 3p | 18 11p 258
51 |pES 4p 1p 2p dp | 186 11p 172

1MGL 260 |[INUYRREDS EA |FMER 3p 4p 3p 3p Mz 13p 206
FFE 4p 2p 1p Tpo | 35 8  -542

1261 250 [T v % xXE |[HHE 3p 4p 2p 4p Mz 13p 555
EH=EF 3p 2p 2p Tp | 35 8  -338

1361 220 |BR=F4% H|E O|B)IMEZER FH | 4o 2p 2p 4p | 106 12p 2217
EIER 1p 2p 3p 20 | 3 8 -124

1461 220 [PV TFFDIUT14—ILR KA |[THER 1p 3p 4p 3p | 18 11p 155
FF FahF 2p 1p 2p 3p | 3L 8 -119

1561 22p |[fFRUSRE o | BRI 3p 1p 3p 3p | 22 10p  -100
FXHEAET 2p 1p 2p 3p | 3T 8  -261

1661 21p |EZEHE UNII=T o 3p 2p 1p 3p 256 9p -158
HRANRE 2p 4p 1p 20 | 256 9p -93

1762 18p |[BEU»A xXE |MILEE 3p 1p 1p dp | 256 9p -4
#Ilfc= 3p 1p 4p To | 256  9p -58

186 18 | R3—h H]F |[EAKRET 2p 2p 2p 2p 3541 8p -260
R KER F&E 2p 2p 3p 20 | 2561 9p 4

1961 18p |/\iAdE RXE |IWXF 4p 2p 4p 20 | 10z 12p 223
VIR 1p 4p 1p To | 61  Tp -841

206 15p [CBRTUEE BT |YHESA T 1p 3p 2p 3p | 256 9p 44
TEEHZRR 2p 2p 2p To | 61  Tp -334

212 15p [|EK BN |BIfKER Fi 2p 1p 1p 20 | 451 6p -438
BEBE T | 4 2p 1p 20 | 2561 9p -48

2260 13p |8 BT REEZ 3p 4p 4p To | 1062 12p 216
REBFAN Tt 1p 1p 1p 20 | 4THRT  5p -483

J-be— 13p [Bx xXZ [BIIFEF 1p 3p 4p To | 2560 9p -360
=)=t 1p 1p 2p Tp | 4761  5p -579

2460 9 [Fx BN |[BHBK 4% 1p 1p 3p Tp | 4561  6p -2176

aER 4 4p 1p 1p 1p 4241 To -658
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